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$P~{T}AP=D,D \in diag(n)

XM {T}Ax=y"~{T}Dy,y=P~{-1}x,x=Py, 000 0 00O O OP,D\

O0000:\

\begin{gather*} & \max:b~{T}P &\ & s.t:\sum_{i=1}"{N}e {i}y {i}~{2}\leq l,e {i}ODO OO &\
\end{gather*}

b~ {T}P=d,(\sum_{i=1}"~{N}d_{i}y_{i)~{2} \leq

(\sum_{i=1}~{N}frac{d_{i} ~{2}}{e_{i}}(\sum_{i=1}~{N}e_{i}y_{i}~{2})$
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$L(x,\lambda )=x"{T}bb" {T}x+\lambda(x"~ {T}Ax-1),\lambda \geq 0, O O L(x,\lambda) \leq
X~ {THob™ {T}x\\

OKKTO O,00000 \nabla_{x} L=0\lambda(x”™{T}Ax-1)=0\

2bb~ {T}x+2\lambda Ax=0,x"{T}Ax=1\\

x~{T}bb~{T}x = -\lambda,(bb” {T}+\lambda A)=0\\

X {Tob™ {Tix=b"™{T}A"{-1}b$%
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$I_ {n}=\int_ {0}~ {1}x~{n}(1-x)~{n}dx \xrightarrow{O O 0O O } \frac{1}{n+1}int {0}~ {1}(1-
X)~{n}dx~{n+1}=\frac{n}{n+1}int {0}~ {1}x~{n+1}(1-x)"~{n-1}dx\\
=\frac{n!}{\frac{(2n)!}{n!} Nint_{0} ~{1}x"~{2n}dx=\frac{(n")~ {2} }{(2n+1)!}$
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